












Statements: 

All stars are moons. 

All moons are planets. 

All planets are round. 

Conclusions: 

I.  All moons being stars is a possibility. 

II. All stars are round. 

III.  At least some planets are stars. 

कथन: 
सभी ससतारे चंद्रमा हैं।

सभी चंद्रमा ग्रह हैं।

सभी ग्रह गोल हैं।

सनष्कर्ष : 
I. सभी चंद्रमा के ससतारे होना एक

संभावना है।

II. सभी ससतारे गोल हैं।
III. कम सेकम कुछ ग्रह ससतारे हैं।



Statements: 

All stars are moons. 

All moons are planets. 

All planets are round. 

Conclusions: 

I.  All moons being stars is a possibility. 

II. All stars are round. 

III.  At least some planets are stars. 



Find the missing (?)

82 : 06 :: 76 : ?

1. 15
2. 01
3. 12
4. 24
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Find the missing term(?)

17 : 10 :: 58 : ?

(A) 18

(B) 16

(C) 12
(D) 21



Find the triangle  (?)

1. 16
2. 18
3. 19
4. 20
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Find the missing (?)

54 : 9 :: 32 : ?

1. 6
2. 5
3. 4
4. 9
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Find the missing (?)

9 : 7 : 08 : ?

1. 84
2. 05
3. 08
4. 18
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Q.: Three positions of dice are shown. What will appear on the 
opposite to the face containing O? पासा की तीन स्थथसतयां सिखाई

गई है तो ज्ञात कीसिएकी ‘O’ के सवपरीत सतह परक्या होगा?
(A) # (B) +
(C) % (D) &

#@
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3

@

&
# OO



Find the option which should replace (?)

16 : 34  :: 11 : ?

(A) 88

(B) 86

(C) 24
(D) 22



Find the Missing one  (?)

86274 : 75183 :: 37653 : ?

(A) 26542

(B) 48564

(C) 26742

(D) 43235



Find the missing :-

(A) 5 , 19 , 9 
(B) 7 , 29 , 13
(C) 15 , 59 , 29
(D) 12 , 47 , 23
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Find the missing term(?)

Town : Country :: Earth : ?
शहर: देश :: पृथ्वी:? 

(A) World / एक दुनिया

(B) Solar System / सौर मंडल

(C) Ocean / महासागर
(D) Planet / ग्रह



Q  Which number will replace the question mark ?

(A) 1084 (B) 484

(C) 49 (D) 36

? 25 16

529 169 81

676 144 49



Q Which number will replace the question mark ?

(A) 13 (B) 6

(C) 17 (D) 22

? 13 15

9 28 4

13 12 16



Q Which number will replace the question mark ?

(A) 48 (B) 7

(C) 28 (D) 36

55 22 28

33 44 28

66 33 ?



Q Which number will replace the question mark ?

(A) 104 (B) 105

(C) 51 (D) 57

2 1 4

7 14 11

41 195 ?



Q Which number will replace the question mark ?

(A) 4 (B) 3

(C) 1 (D) 2

47 40 50 43

23 20 22 19

20 21 1 ?



Q Which number will replace the question mark ?

(A) 3 (B) 7

(C) 2 (D) 1

4 2 5

3 3 10

6 9 4

8 6 ?



Choose the correct mirror image of the given figure (X) from 

amongst the four alternatives ?

(X) (A) (B) (C) (D)



Choose the correct mirror image of the given figure (X) from 

amongst the four alternatives ?

(X) (A) (B) (C) (D)



Statements :  

No note is a coin. 

Some coins are metals. 

All plastics are notes.

Conclusions: 

I. No coin is plastic.

II. All plastics being metals is a possibility.

III. No metal is plastic.

IV. All notes are plastics.

कथन :  
कोई नोट ससक्का नही ं है।

कुछ ससके्क धातु हैं।

सभीप्लास्िकनोट्स हैं।

सनष्कर्ष : 
I. कोई ससक्काप्लास्िकनही ं है।

II. सभीप्लास्िक के धातु होना एक

संभावना है।

III. कोई धातु प्लास्िकनही ं है।

IV. सभी नोटप्लास्िक हैं।



Statements :  

No note is a coin. 

Some coins are metals. 

All plastics are notes.

Conclusions: 

I. No coin is plastic.

II. All plastics being metals is a possibility.

III. No metal is plastic.

IV. All notes are plastics.



Statements:

All gliders are parachutes.    

No parachute is an airplane. 

All airplanes are helicopters.

Conclusions:

I. No glider is an airplane.

II. All gliders being helicopters is

a possibility

III. No helicopter is a glider.

IV. All parachutes being helicopters is 

a possibility.

कथन:
सभीग्लाइडसष पैराशूट हैं।

कोई पैराशूट एक हवाई िहाि नही ं है।

सभी हवाई िहाि हेलीकॉप्टर हैं।

सनष्कर्ष :
I. कोईग्लाइडर हवाई िहाि नही ं है।

II. सभीग्लाइडर का हेलीकॉप्टर होना

एक संभावना है।

III. कोई हेलीकॉप्टरग्लाइडर नही ं है।

IV. सभी पैराशूट का हेलीकॉप्टर होना
एक संभावना है।



Statements:

All gliders are parachutes.    

No parachute is an airplane. 

All airplanes are helicopters.

Conclusions:

I. No glider is an airplane.

II. All gliders being helicopters is

a possibility

III. No helicopter is a glider.

IV. All parachutes being helicopters is 

a possibility.



Statements: 

No stone is a metal.     

Some metals are papers.    

All papers are glass.

Conclusions : 

I. All stones being glass is a possibility.

II. No stone is a paper.

III. No glass is a metal.

IV. At least some glass is metal.

कथन: 
कोई पत्थर धातु नही ं है।

कुछ धातु कागि हैं।

सभी कागिग्लास हैं।

सनष्कर्ष : 
I. सभी पत्थरो ंकाग्लास होना एक

संभावना है।

II. कोई पत्थरकागि नही ं है।
III. कोईग्लास धातु नही ं है।

IV. कम सेकम कुछग्लास धातु है।



Statements: 

No stone is a metal.     

Some metals are papers.    

All papers are glass.

Conclusions : 

I. All stones being glass is a possibility.

II. No stone is a paper.

III. No glass is a metal.

IV. At least some glass is metal.


